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H#S B BEHR A BR(m) [BE(m) B BEHR A fBR(m) [BE(m)
1 (22 mE/MUBF X 9.1 2.7
2 J\IBE a8/ W KRR 8.0 4.0
3 BB TE T EHEAR2EMR 9.0 2.7
4 BONIEE [hETSEFHR 5.2 4.2
5 EARISHE MEEARI SR 8.3 3.2
6 BIRIE B R E AT R 8.8 3.7
7 HRRIS1E  |[fEERERNER 6.5 3.2
8 HARRA2SE  |[iEEERNER 6.4 3.0
9 1% E1E B E SR 10.2 5.0
10 MBAARSERE |[HEREF2SHK 8.0 1.5
11 TIE3SHE  |fE THRELIRK 4.6 3.7
12 BAE ER BB 3.3 4.1
13 mAE2 miE B @ U SF LS 3.4 3.8
14 FIR15HE AERFE LR 6.5 6.4
15 BER2SE |mERALISH 4.6 5.0
16 EHRISE |TmEEPRISRK 5.1 5.0
17 THBESSHE |METHREISR 33 4.2
18 mLEA TERESER 7.0 1.7
19 mART mEFELERHR 3.3 2.7
20 |LHES TEREREER 2.5 1.4
21 BAR B 2SR 3.9 3.6
22 mALEN 8/ W KRR 5.0 10.8
23 BB TEHBEISR 5.0 3.0
24 |A1B20 B FRIRKIERTRR 6.4 3.3
25 BRILASHE  |[MER/ RERRR 11.0 6.6
26 EHILSSHE  |[MEM/ RERK 7.1 3.6




